"ARPE® Series N66

3-PiecE Sanrtary BarL VALvE

Valves, Automation & Controls

Design Features

e Tube Full Port

e 1000 CWP (1/2"-2")

e 600 CWP (2-1/2" - 4")

e 316 stainless steel body

® Blow out proof stem

e Clamp, extended Butt-weld or short Butweld
ends available

e 3-Piece design

e |SO 5211 mounting pad

® lockable lever or oval handle

Page 1 of 3



HARPE Series N66
Valves, Automation & Controls 3 —PI ECE S ANITARY BALL VALVE

Dimensions

[N]
" m
T D 4 e D g
Heg — || — — || — — {<+(>— - (D
Y R Y VeSS P\

Dimensions (Inches)

Size A B D E F H

K L M N O

1/2 | 096 35 079 | 098 | 1.14 | 244 [1.42(F03)| 022 | 492 | M58 | 0.65 | 037
3/4 | 105 | 400 | 079 | 098 | 120 | 250 |1.42(F03)| 022 | 492 | M5x8 | 0.5 | 0.2
F04) | 030 | 571 | M5x8 | 0.84 | 087

I-1/2 | 213 | 550 | 171 | 200 | 191 | 3.64 | 1.97 (F05
2 265 | 625 | 222 | 252 | 224 | 405 |1.97(F05
21/2 | 320 | 650 | 278 | 3.05 | 332 | 5.87 |276(F07
3 397 | 1050 | 328 | 357 | 378 | 637 | 2.76(F07
4 474 1 1250 | 435 | 468 | 458 | 7.36 | 4.01(F10

0.34 | 748 | Méex1.0 | 117 | 137
034 | 748 |[Mex10 | 1.9 | 1.87
055 | 9.84 |M8x1.25 1.47 | 2.37
055 | 9.84 |M8x1.25| 1.47 | 2.87
0.75 | 11.33 [M10x1.5| 1.66 | 3.83

J
(
(
1 | 154 | 45 | 171 | 200 | 150 | 2.96 | 1.65(
(
(
(
(
(

)
)
)
)
)
)
)
)

Page 2 of 3

Smita-Coorer INTERNATIONAL * TorL Frek (800) 766-0076 « Fax (323) 890-4456 + www.smithcooper.com * www.sharpevalves.com




HARPE Series N66
Valves, Automation & Controls 3 —PI ECE S ANITARY BALL VALVE

Parts & Materials

No. Part Name | Qty Material
1 Body 1| cram
2 End Cap 2 CFBM
3 Ball 1 316 Stainless Steel
4 Seats 2 TFM / PTFE Cavity Fillers
5 Body Seal 2 PTFE
6 Stem ] 316 Stainless Steel
7 Stem Seal ] PTFE
8 Glond ] 300 Series Stainless Steel
9 Handle 1 300 Series Stainless Steel
10 | Stem Washer ] 300 Series Stainless Steel
11| Stem Nut 1 300 Series Stainless Steel
12 | Bolts Washer 4/12 | 300 Series Stainless Steel
13 | Bolts Nut 4/12 | 316 Stainless Steel
14 | Bolfs 4/6 | 304 Stainless Steel
15 | Cover ] PVC
16 | Thrust Washer ] PTFE
17 | Belleville Washer 4 300 Series Stainless Steel
18 | Packing Nut 1 300 Series Stainless Steel
19 | Lock Tab 1 300 Series Stainless Steel
20 | Stop Pin 1 300 Series Stainless Steel
TeChnlcaI Informahon s cV Weighf Pressure Temperature Ratings
LBS g_ 1250 '“:M
1/2 15 1.2 & 1000
34 | % 20 5
1 60 30 8
R RED 60 o 50
2 360 92 % 2
ne | m | =
3 '| ]23 290 ° 0 75 150 225 300 375 450
4 2054 41.0 Working Temperature - °F

How to Order

Fig: 1/2-N66-6-6-M-T-CE
Description: 1/2" - N66 - 316 Body - 316 Ball & Stem - TFM Seat - PTFE Seat - Clamp Ends

Size |Series Body Ball & Stem Seat Seal Ends Options
1/2 | Né6 | 6 (316 Stainless | 6 (316 Stainless | M | TFM® T | PTFE CE | Clamp X | Oxygen Clean*
3/4 Steel Steel C | PTFE Cavity Filled BTE | Butt-weld tube, SF | Silicone Free*
1 Extended (316L) | OH | Oval Hondle
1-1/2 BE | Buttweld tube, Short
2 (316L)
3
4
Due to continuous development of our product range, we reserve the right to change the dimensions and information for this product as required. *POA
12/14 TFM ia a registered trademark of Dyleon, LLC Pa
ge 3 of 3

Smita-Coorer INTERNATIONAL * TorL Frek (800) 766-0076 « Fax (323) 890-4456 + www.smithcooper.com * www.sharpevalves.com



